# On weakly conformally symmetric spaces 

By U.C. DE (Kalyani) and SOMNATH BANDYOPADHYAY (Kalyani)


#### Abstract

The object of the present paper is to establish the existence of weakly conformally symmetric spaces by an example and to investigate the decomposability of such spaces.


## 1. Introduction

The notions of weakly symmetric and weakly projective symmetric spaces were introduced by Tamássy and Binh [5]. In a subsequent paper Binh [1] studied decomposable weakly symmetric spaces. A non-flat Riemannian space $V^{n}(n>2)$ is called weakly symmetric if the curvature tensor $R_{h i j k}$ satisfies the condition
(1.1) $R_{h i j k, m}=A_{m} R_{h i j k}+B_{h} R_{m i j k}+D_{i} R_{h m j k}+E_{j} R_{h i m k}+F_{k} R_{h i j m}$,
where $A, B, D, E, F$ are 1-forms (non-zero simultaneously) and the comma ',' denotes covariant differentiation with respect to the metric tensor of the space. The 1 -forms are called the associated 1 -forms of the space and an $n$-dimensional space of this kind is denoted by $(W S)_{n}$.

On the analogy of $(W S)_{n}$ Tamássy and Binh [6] introduced the notion of weakly Ricci symmetric spaces $(W R S)_{n}$. A Riemannian space $V^{n}$ is called weakly Ricci symmetric if there exist 1-forms $A, B, D$ such that $R_{i j, k}=A_{k} R_{i j}+B_{i} R_{k j}+D_{j} R_{i k}$, where the Ricci tensor $R_{i j} \neq 0$.

[^0]The present paper deals with non conformally-flat Riemannian spaces $V^{n}(n>3)$ whose conformal curvature tensor $C_{h i j k}$ satisfies the condition:

$$
\begin{equation*}
C_{h i j k, m}=A_{m} C_{h i j k}+B_{h} C_{m i j k}+D_{i} C_{h m j k}+E_{j} C_{h i m k}+F_{k} C_{h i j m}, \tag{1.2}
\end{equation*}
$$

where

$$
\begin{align*}
C_{h i j k}= & R_{h i j k}-\frac{1}{n-2}\left(g_{h k} R_{i j}-g_{h j} R_{i k}+g_{i j} R_{h k}-g_{i k} R_{h j}\right)  \tag{1.3}\\
& +\frac{R}{(n-1)(n-2)}\left(g_{h k} g_{i j}-g_{h j} g_{i k}\right),
\end{align*}
$$

$R$ is the scalar curvature and $A, B, D, E, F$ are 1-forms (non-zero simultaneously). Such a space will be called a weakly conformally symmetric space and denoted by $(W C S)_{n}$. The dimension has been taken greater than 3 because the conformal curvature tensor vanishes for $n=3$.

In our previous paper [3], by using the skew-symmetric property of the curvature tensor, the defining relation (1.1) has been reduced to the modified form

$$
\begin{equation*}
R_{h i j k, m}=A_{m} R_{h i j k}+B_{h} R_{m i j k}+B_{i} R_{h m j k}+D_{j} R_{h i m k}+D_{k} R_{h i j m} . \tag{1.4}
\end{equation*}
$$

Since also the conformal curvature tensor satisfies the same skew-symmetric property as the curvature tensor, the defining relation (1.2) of a $(W C S)_{n}$ can be expressed in the following form:

$$
\begin{equation*}
C_{h i j k, m}=A_{m} C_{h i j k}+B_{h} C_{m i j k}+B_{i} C_{h m j k}+D_{j} C_{h i m k}+D_{k} C_{h i j m} . \tag{1.5}
\end{equation*}
$$

In Section 2 an example of a $(W C S)_{n}$ is given. In Section 3 it is shown that a decomposable $(W C S)_{n}$ is of zero scalar curvature.

## 2. Example of a $(W C S)_{n}$

In this section we want to construct concrete $(W C S)_{n}$ spaces. On the coordinate space $R^{n}$ (with coordinates $x^{1}, \ldots, x^{n}$ ) we define a Riemannian space $V^{n}$. We calculate the components of the curvature tensor, the Ricci tensor, the conformal curvature tensor and its covariant derivative, and then we verify the defining relation (1.5).

Let each Latin index run over $1,2, \ldots, n$ and each Greek index over $2,3, \ldots, n-1$. We define a Riemannian metric on the $R^{n}(n \geq 4)$ by the formula

$$
\begin{equation*}
d s^{2}=\phi\left(d x^{1}\right)^{2}+K_{\alpha \beta} d x^{\alpha} d x^{\beta}+2 d x^{1} d x^{n}, \tag{2.1}
\end{equation*}
$$

where $\left[K_{\alpha \beta}\right]$ is a symmetric and non-singular matrix consisting of constants and $\phi$ is a function of $x^{1}, x^{2}, \ldots, x^{n-1}$ and independent of $x^{n}$. In the metric considered, the only non-vanishing components of the Christoffel symbols, the curvature tensor and the Ricci tensor are (see [4])

$$
\begin{gathered}
\Gamma_{11}^{\beta}=-\frac{1}{2} K^{\alpha \beta} \phi \cdot \alpha, \quad \Gamma_{11}^{n}=\frac{1}{2} \phi \cdot 1, \quad \Gamma_{1 \alpha}^{n}=\frac{1}{2} \phi \cdot \alpha, \\
R_{1 \alpha \beta 1}=\frac{1}{2} \phi_{\cdot \alpha \beta}, \quad R_{11}=\frac{1}{2} \phi \cdot{ }_{\alpha \beta} K^{\alpha \beta},
\end{gathered}
$$

and the components which can be obtained from these by the symmetry properties. Here '.' denotes partial differentation with respect to the coordinates and $K^{\alpha \beta}$ are the elements of the martix inverse to $\left[K_{\alpha \beta}\right]$. We consider $K_{\alpha \beta}$ as the Kronecker symbol $\delta_{\alpha \beta}$ and $\phi=\left(M_{\alpha \beta}+\delta_{\alpha \beta}\right) x^{\alpha} x^{\beta} e^{x^{1}}$, where $M_{\alpha \beta}$ are constants and satisfy the relations $M_{\alpha \beta}=0$ for $\alpha \neq \beta$; $M_{\alpha \beta} \neq 0$ for $\alpha=\beta$, and $\sum_{\alpha=2}^{n-1} M_{\alpha \alpha}=0$. Hence we obtain the following relations:

$$
\delta_{\alpha \beta} \delta^{\alpha \beta}=n-2, \quad \delta^{\alpha \beta} M_{\alpha \beta}=\sum_{2}^{n-1} M_{\alpha \alpha}=0 \quad \text { and } \quad \phi \cdot \alpha \beta=2\left(M_{\alpha \beta}+\delta_{\alpha \beta}\right) e^{x^{1}} .
$$

Therefore

$$
\delta^{\alpha \beta} \phi_{\cdot \alpha \beta}=2\left(\delta^{\alpha \beta} M_{\alpha \beta}+\delta^{\alpha \beta} \delta_{\alpha \beta}\right) e^{x^{1}}=2(n-2) e^{x^{1}} .
$$

Since $\phi_{\cdot \alpha \beta}$ vanishes for $\alpha \neq \beta$, the only non-zero components for $R_{h i j k}$ and $R_{i j}$ are

$$
\begin{equation*}
R_{1 \alpha \alpha 1}=\frac{1}{2} \phi_{\cdot \alpha \alpha}=\left(1+M_{\alpha \alpha}\right) e^{x^{1}} \text { and } R_{11}=\frac{1}{2} \phi \cdot \alpha \beta \delta^{\alpha \beta}=(n-2) e^{x^{1}} . \tag{2.2}
\end{equation*}
$$

Hence $R=g^{i j} R_{i j}=g^{11} R_{11}$. Again from (2.1) we obtain $g_{n i}=g_{i n}=0$ for $i \neq 1$, which implies $g^{11}=0$. So $R=0$. Therefore $R^{n}$ with the considered metric will be a Riemannian space $V^{n}$ whose scalar curvature
is zero. (1.3), (2.1) and (2.2) show that in this space the only non-zero components of $C_{h i j k}$ are

$$
\begin{align*}
C_{1 \alpha \alpha 1} & =R_{1 \alpha \alpha 1}-\frac{1}{n-2}\left(g_{\alpha \alpha} R_{11}\right)  \tag{2.3}\\
& =\left(1+M_{\alpha \alpha}\right) e^{x^{1}}-\frac{1}{n-2}(n-2) e^{x^{1}}=M_{\alpha \alpha} e^{x^{1}},
\end{align*}
$$

and the components which can be obtained from these by the symmetry properties. The only non-zero components of $C_{h i j k, m}$ are

$$
\begin{equation*}
C_{1 \alpha \alpha 1,1}=M_{\alpha \alpha} e^{x^{1}}=C_{1 \alpha \alpha 1} \neq 0 \tag{2.4}
\end{equation*}
$$

and the components which can be obtained from these by the symmetry properties. Hence our $V^{n}$ is neither conformally flat nor conformally symmetric [2].

We want to show that this $V^{n}$ is a $(W C S)_{n}$, that is, it satisfies (1.5). Let us consider the 1 -forms

$$
\begin{align*}
& A_{i}(x)=\frac{1}{3} \quad \text { for } i=1,=0 \text { otherwise } \\
& B_{i}(x)=\frac{2}{9} \quad \text { for } i=1,=0 \text { otherwise }  \tag{2.5}\\
& D_{i}(x)=\frac{4}{9} \quad \text { for } i=1,=0 \text { otherwise. }
\end{align*}
$$

In our $V^{n}$ (1.5) reduces with these 1-forms to the equations
(ii) $\quad C_{11 \alpha 1, \alpha}=A_{\alpha} C_{11 \alpha 1}+B_{1} C_{\alpha 1 \alpha 1}+B_{1} C_{1 \alpha \alpha 1}+D_{\alpha} C_{11 \alpha 1}+D_{1} C_{11 \alpha \alpha}$

$$
\begin{equation*}
C_{1 \alpha 11, \alpha}=A_{\alpha} C_{1 \alpha 11}+B_{1} C_{\alpha \alpha 11}+B_{\alpha} C_{1 \alpha 11}+D_{1} C_{1 \alpha \alpha 1}+D_{1} C_{1 \alpha 1 \alpha} \tag{iii}
\end{equation*}
$$

since for the case other than (i), (ii) and (iii), the components of each term of (1.5) vanish identically and the relation (1.5) holds trivially. Now from $(2.3),(2.4)$ and (2.5) we get the following relation for the right hand side (r.h.s.) and the left hand side (l.h.s.) of (i):

$$
\text { r.h.s. of } \quad(\mathrm{i})=\left(A_{1}+B_{1}+D_{1}\right) C_{1 \alpha \alpha 1}=1 . M_{\alpha \alpha} e^{x^{1}}=\text { 1.h.s. of (i). }
$$

Also r.h.s. of (ii) $=\frac{2}{9}\left(C_{\alpha 1 \alpha 1}+C_{1 \alpha \alpha 1}\right)=0$ (by the skew-symmetric property of $C_{h i j k}$ ) $=$ l.h.s. of (ii). By a similar argument as in (ii), it can be shown that the relation (iii) is also true. Hence we obtain the following

Theorem 1. Let $V^{n}(n \geq 4)$ be a Riemannian space with a metric of the form

$$
\begin{aligned}
d s^{2} & =\phi\left(d x^{1}\right)^{2}+\delta_{\alpha \beta} d x^{\alpha} d x^{\beta}+2 d x^{1} d x^{n} \\
\phi & =\left(M_{\alpha \beta}+\delta_{\alpha \beta}\right) x^{\alpha} x^{\beta} e^{x^{1}}
\end{aligned}
$$

(where $M_{\alpha \beta}$ and $\phi\left(x^{1}, \ldots, x^{n-1}\right)$ are as described above). Then $V^{n}$ is a weakly conformally symmetric space with zero scalar curvature which is neither conformally flat nor conformally symmetric.

## 3. Decomposable $(W C S)_{n}$

An $n$-dimensional Riemannian space $V^{n}$ is said to be decomposable if in some coordinates its metric is given by

$$
\begin{equation*}
d s^{2}=g_{i j} d x^{i} d x^{j}=\bar{g}_{a b} d x^{a} d x^{b}+g_{a^{\prime} b^{\prime}}^{*} d x^{a^{\prime}} d x^{b^{\prime}} \tag{3.1}
\end{equation*}
$$

where $\bar{g}_{a b}$ are functions of $x^{1}, x^{2}, \ldots, x^{r}(r<n)$ denoted by $\bar{x}$, and $g_{a^{\prime} b^{\prime}}^{*}$ are functions of $x^{r+1}, \ldots, x^{n}$ denoted by $x^{*} ; a, b, c, \ldots$ run from 1 to $r$ and $a^{\prime}, b^{\prime}, c^{\prime}, \ldots$ run from $r+1$ to $n$. The two parts of (3.1) are the metrics of a $V^{r}(r \geq 2)$ and a $V^{n-r}(n-r \geq 2)$ which are called the decomposition spaces of $V^{n}=V^{r} \times V^{n-r}$. Throughout this paper each object denoted by a bar is assumed to be formed from $\bar{g}_{a b}$ and of $V^{r}$, and each object denoted by a star is formed from $g_{a^{\prime} b^{\prime}}^{*}$ and of $V^{n-r}$.

From (3.1) we have

$$
\begin{gather*}
g_{a b}=\bar{g}_{a b}, \quad g_{a^{\prime} b^{\prime}}=g_{a^{\prime} b^{\prime}}^{*}, \quad g^{a b}=\bar{g}^{a b}, \\
g^{a^{\prime} b^{\prime}}=g^{* a^{\prime} b^{\prime}}, \quad g_{a a^{\prime}}=0=g^{a a^{\prime}}, \tag{3.2}
\end{gather*}
$$

and the only non-zero Christoffel symbols of the 2nd kind are as follows:

$$
\Gamma_{a b}^{c}=\bar{\Gamma}_{a b}^{c}, \quad \Gamma_{a^{\prime} b^{\prime}}^{c}=\Gamma_{a^{\prime} b^{\prime}}^{*} .
$$

A comma, a dot and a semicolon shall denote covariant differentiation in $V^{n}, V^{r}$ and $V^{n-r}$ respectively. Hence we have the following relations:

$$
\begin{align*}
& R_{a^{\prime} b c d}=0=R_{a b^{\prime} c d^{\prime}}=R_{a b^{\prime} c^{\prime} d^{\prime}} \\
& R_{a b c d, a^{\prime}}=0=R_{a b^{\prime} c d^{\prime}, k}=R_{a b^{\prime} c d^{\prime}, k^{\prime}} \\
& R_{a b c d}=\bar{R}_{a b c d}, \quad R_{a^{\prime} b^{\prime} c^{\prime} d^{\prime}}=R_{a^{\prime} b^{\prime} c^{\prime} d^{\prime}}^{*}  \tag{3.3}\\
& R_{a b}=\bar{R}_{a b}, \quad R_{a^{\prime} b^{\prime}}=R_{a^{\prime} b^{\prime}}^{*}, \quad R_{a b, c}=\bar{R}_{a b \cdot c}, \quad R_{a^{\prime} b^{\prime} \cdot c^{\prime}}=R_{a^{\prime} b^{\prime} ; c^{\prime}}^{*} \\
& R=g^{i j} R_{i j}=\bar{g}^{a b} \bar{R}_{a b}+g^{* a^{\prime} b^{\prime}} R_{a^{\prime} b^{\prime}}^{*}=\bar{R}+R^{*} .
\end{align*}
$$

We suppose that $V^{n}=V^{r} \times V^{n-r}$ and $B \neq 0$.
From (1.5) we get

$$
\begin{equation*}
C_{a^{\prime} b c d \cdot a}=A_{a} C_{a^{\prime} b c d}+B_{a^{\prime}} C_{a b c d}+B_{b} C_{a^{\prime} a c d}+D_{e} R_{a^{\prime} b a d}+D_{d} C_{a^{\prime} b c a} . \tag{3.4}
\end{equation*}
$$

In view of (1.3), (3.2) and (3.3) it follows that

$$
\begin{aligned}
C_{a^{\prime} b c d}= & R_{a^{\prime} b c d}-\frac{1}{n-2}\left(g_{b c} R_{a^{\prime} d}-g_{b d} R_{a^{\prime} c}+g_{a^{\prime} d} R_{b c}-g_{a^{\prime} c} R_{b d}\right) \\
& +\frac{R}{(n-1)(n-2)}\left(g_{a^{\prime} d} g_{b c}-g_{a^{\prime} c} g_{b d}\right)=0
\end{aligned}
$$

and also $C_{a^{\prime} b c d, a}=0$. Hence (3.4) reduces to

$$
\begin{equation*}
B_{a^{\prime}} C_{a b c d}=0 . \tag{3.5}
\end{equation*}
$$

Similarly we get

$$
\begin{equation*}
B_{a} C_{a^{\prime} b^{\prime} c^{\prime} d^{\prime}}=0 \tag{3.6}
\end{equation*}
$$

Since $B \neq 0$, all its components cannot vanish. Hence we consider the following two cases:

Case (i) Suppose $B_{a^{\prime}} \neq 0$ for a fixed $a^{\prime}$. Then from (3.5) $C_{a b c d}=0$ for all $a, b, c, d$. That is,

$$
\begin{aligned}
R_{a b c d} & -\frac{1}{n-2}\left(g_{b c} R_{a d}-g_{b d} R_{a c}+g_{a d} R_{b c}-g_{a c} R_{b d}\right) \\
& +\frac{R}{(n-1)(n-2)}\left(g_{a d} g_{b c}-g_{a c} g_{b d}\right)=0 .
\end{aligned}
$$

By (3.2) and (3.3) this equation takes the form

$$
\begin{aligned}
\bar{R}_{a b c d} & -\frac{1}{n-2}\left(\bar{g}_{b c} \bar{R}_{a d}-\bar{g}_{b d} \bar{R}_{a c}+\bar{g}_{a d} \bar{R}_{b c}-\bar{g}_{a c} \bar{R}_{b d}\right) \\
& +\frac{\bar{R}+R^{*}}{(n-1)(n-2)}\left(\bar{g}_{a d} \bar{g}_{b c}-\bar{g}_{a c} \bar{g}_{b d}\right)=0 .
\end{aligned}
$$

Transvecting the above equation by $\bar{g}^{b c}$ we get
$\bar{R}_{a b}-\frac{1}{n-2}\left(r \bar{R}_{a d}-\bar{R}_{a d}+\bar{R} \bar{g}_{a d}-\bar{R}_{a d}\right)+\frac{\bar{R}+R^{*}}{(n-1)(n-2)}\left(r \bar{g}_{a d}-\bar{g}_{a d}\right)=0$.
Transvecting again by $\bar{g}^{a d}$ we obtain

$$
\bar{R}-\frac{2(r-1)}{n-2} \bar{R}+\frac{\bar{R}+R^{*}}{(n-1)(n-2)} r(r-1)=0
$$

and hence

$$
\begin{equation*}
R^{*}=-k \bar{R} \tag{3.7}
\end{equation*}
$$

where $k=\frac{(n-r)(n-r-1)}{r(r-1)} \neq 0$ (since $n-r \geq 2$ and $r \geq 2$ ).
Therefore, by (3.3) we get

$$
\begin{equation*}
R=(1-k) \bar{R}=\left(1-\frac{1}{k}\right) R^{*} \tag{3.8}
\end{equation*}
$$

Case (ii) Suppose $B_{a} \neq 0$ for a fixed a. Then from (3.6) it follows that $C_{a^{\prime} b^{\prime} c^{\prime} d^{\prime}}=0$ for all $a^{\prime}, b^{\prime}, c^{\prime}, d^{\prime}$. Proceeding similarly as in Case (i), we obtain

$$
\begin{gather*}
R^{*}=-\frac{1}{k} \bar{R}  \tag{3.9}\\
R=(1-k) R^{*}=\left(1-\frac{1}{k}\right) \bar{R} \tag{3.10}
\end{gather*}
$$

The relations (3.7) and (3.9) hold simultaneously only if $k=1$. Hence from (3.8) or (3.10) we get $R=0$. For $D \neq 0$ we obtain the same results. Thus we have the following
U.C. De and S. Bandyopadhyay : On weakly conformally symmetric spaces

Theorem 2. For $B \neq 0$ or $D \neq 0$, a decomposable $(W C S)_{n}$ is of zero scalar curvature.

Acknowledgement. The authors express their sincere thanks to Professor Lajos TAMÁSSY for his valuable suggestions for the improvement of the paper.

## References

[1] T. Q. Binh, On weakly symmetric Riemannian spaces, Publ. Math. Debrecen. 42 (1993), 103-107.
[2] M. C. Chaki and B. Gupta, On conformally symmetric space, Indian Journal of Mathematics 5 (1963), 113-122.
[3] U. C. De and S. Bandyopadhyay, On weakly symmetric Riemannian spaces, Publ. Math. Debrecen 54 (1999), 377-381.
[4] W. Roter, On conformally symmetric Ricci-recurrent spaces, Colloquium Mathematicum 31 (1974), 87-96.
[5] L. TamásSy and T. Q. Binh, On weakly symmetric and weakly projective symmetric Riemannian manifolds, Coll. Math. Soc. J. Bolyai 50 (1989), 663-670.
[6] L. Tamássy and T. Q. Binh, On weak symmetrics of Einstein and Sasakian manifolds, Tensor N.S. 53 (1993), 140-148.
U.C. DE

DEPARTMENT OF MATHEMATICS
UNIVERSITY OF KALYANI
KALYANI 741235
WEST BENGAL
INDIA

SOMNATH BANDYOPADHYAY
DEPARTMENT OF MATHEMATICS
UNIVERSITY OF KALYANI
KALYANI 741235
WEST BENGAL
INDIA
(Received October 6, 1998; revised September 8, 1999)


[^0]:    Mathematics Subject Classification: 53B35, 53B05.
    Key words and phrases: weakly conformally symmetric Riemannian space, decomposable space.

